(8) pHEMOLB) R TANAN ()

(4% - M/ 'md, EEE : %)

0 Iy [ 5] Hh
IR | A2 e H & B | ADEF IR EOHE M oo Fr fE HE SERRQTHE A MRS | SERR2SHEEARIRS | A EhR
M,/ m M,/ ni %

1 |[=#is5—2 N | =i =4 TH38%1 3 106, 000 99,000 A 6.6
FT=w4—7—3]
(e A EE)

2 |¥#5—23 TR IR WA TTHME#H2 1 5% 2 32, 400 30,400] A 6.2
(EBALRESL )

3 |5 —2 TR IR HARST KM EEERT A 2 8 8 3% 1 4+ 45, 000 42,8001 A 4.9
GINFE T TR 2K)

4 |Ems5—1 PRIk I HARTHKMERAT RN 2 6 80&F 1 4 39, 000 37,100] A 4.9
(HWAJE)E)

5 |RHE5—1 TR IR ORI AT M4 4 4 8% 1 45, 600 43,600 A 4.4
CIFFY RBEAEH)

6 (AR TS — 1 |fhAS IR | FRRER R UG 2 0 8 & 1 4h 222, 000 213,000 A 4.1
(Ov—T77T v K)L—7)

7 UTHS—1 BER ITHTITH4%3 57, 500 55,2001 A 4.0
M1H4 —61]
(AR L)

8 [MHFERES — 1 SN FARER TSR R E AT 3 1 2% 6 69, 000 67,000 A 2.9
(B S EE)

9 |[HtF5—4 PRI BFEFRFT2THS3I%EA4 127, 000 124, 000] A 2.4
[BF2—-—3—4/]
(R E L)

10 [=#5—1 IR [ =l TR AL &2 0 7 3% 34 93, 000 91,000( A 2.2
e rZyayTinil)

(fifg - M i, ZBEIER . %)
K 73 = Hh
NEGZ | B2 % Hb & B | BB EFI T E M o> Fir {E HE SER2TAEAN ARG | SER284E ARG | A ®h=R
M,/ nd M,/ ni %

1 pPHuws—3 S i IR JITEHAKHAE 1 TH1E16 4 91, 000 87,000 A 4.4

2 [REXKES—1 |BERE FIERKRIEMT KT TH 1 6 4% 1 56, 400 54,600 A 3.2
(BLe2hD/ELHITL)

3 |[RE=H5—-1 |BRIE AERER=BTSTEE 2 TH S5 4 7 5% 14+ 100, 000 97,000 A 3.0
[~r¥pm 2 —9 — 7]
(ZHEENL)

4 |85 —1 T BRATESET I\ J FE4 6 % 8 4} 146, 000 142,000 A 2.7

5 |K#Es5-—1 HEIR KEEMNESRET 2 7 375 150, 000 146, 000] A 2.7
(GEMS E)

6 |[fifs5—3 HEIR FHAETHAE2THS 5% 3 54, 600 53,200 A 2.6
[Ef2—2—28]
(FEb77vvar b x)

7 |FHis—1 HEIR HFHETFHITRFT T 18 7% 1 43, 000 41,900 A 2.6
(= P O] RS S 3R J)

8 |E%5—1 HE IR IEEWAE LT A5 2 TH2% 1 4 90, 800 88,500 A 2.5
(o KR7V)

9 |[ffk5—1 HE IR FARHEFEE 1 TH9 4%5 38, 100 37,200 A 2.4
FEpEpmE 1 —7—1 3]
(PP 2 7 S — 8 3E7T)

10 |HfE5—2 HE IR TG HGE3TH388%S 60, 000 58,600 A 2.3
F[Ffg3—1—4]
CEPT T FERT T idE)




(fifg - H i BEISR - %)
4 +HO=® ] ] ¥ Hh
EG7 [ FE uE K = | EE IR T OHE M o> Fr fE H SERR2TAEAN ARG | R8N R IRS | ZEh=R
M,/ ni M,/ ni %

1 |FxE%5—2 55 1 I FNZRREI NN KRFENMET/MEL 0 4% 7 34, 300 32,500 A 5.2
(Rig& b, BAESD)

2 Mm% 5—1 T AR T KPR 2 % 1 34, 900 33,600 A 3.7
CR S HT)

3 |BEERS—2 |BHE MEZEEERTHEE 2 THL 0% 74+ 41, 000 39,5000 A 3.7
ENS¢ 5))

4 |®RE5-1 5 0 IR MR BN T4 5 3%5 62, 400 61,000 A 2.2

5 |min%5—3 55 0 IR A T K TN T2 8 1 1 9 & 45, 600 44,600 A 2.2
(£ A N—H —NEE)

6 |FMEERS—1 |FHE TN R E IIT KT FfnFdb M 1 8% 5 64, 200 62,900 A 2.0

7 |WR5—7 5 0 IR THETHHE AT AR 4% 1 49, 500 48,500 A 2.0
(A F 71 U(E&%

8 |i#E5—3 5 e 2 I - LI NE S N === R R4 49, 900 49,0001 A 1.8

9 |¥miES5—1 pEg Il Wi ET S THS 7% 61, 000 59,900 A 1.8
(XX v F V)

10 [WeR5—2 B! WA R REZIESHITER 1 8 6 6 &4+ 42,900 42,300 A 1.4
(icfE - JElEH L L)

(ks - 19/ nf, 8% . %)
Hh ¥ 5] £ Hh
NERE [ FE uE e & = | EOE AR = e H o> Fr 7E HE SER2TAE N ARG | SERR284E ARG | A ®hR
M,/ nd M,/ i %

1 [HEN 5 —1 by HENTHARY-3 TH26 7%F49 35, 800 33,000 A 7.8
[hf3—8—23]
(22N &)

2 |PFHHES5—1 17 I G0 BG 7 BRT T 4 3 &4 44, 900 41,5001 A 7.6
(B SAEEE stt)

3 [&FE5—1 b vE WA TR TR 7 1R 1AW 10, 600 9,800 A 7.5
(RA > by a v 7 HEE)

4 |HES5—1 Jb e AIETIAT2 TH2 1 7% 6, 700 6,200 A 7.5
(V5 B3 [a B &)

5 [ERJIIAS —1 |[BHRE EREEIART KT)IARS 3789 24, 400 22,600 A 7.4
(R — APt E)

6 [JRFE5—1 b vEE FREHART 1 TH2%E 24k 9, 500 8,800 A 7.4
(HER)

7 PEE S5 —1 TR I AR BT KT A ETKAE 11 75%5 23, 500 21,800 A 7.2
JIAfER)E)

8 |B[W5—4 S JE IR BRI THEE2 45 8%6 42,900 39,800 A 7.2
G S S )

9 |[H:FES5 —1 I 125 e THRERL - FREIT K778 BTt 4 9 4% 4 4 39, 000 36,200 A 7.2
(ZFRLDsRy)

10 |&BHIL5—1 JbiEiE ZEHA AT =TT 4 2% 1 11, 200 10,400 A 7.1
(z P aEREK)

(E)f I EEFRR

] &
[f] CABY = TR B 7 B DI, /MR 2 UL FOIERAIC L D b D,



